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1430 JEET—T H -2 288 -2 302 -4 590 -2 255
1440 JRET—TH +4 415 -1 418 +3 833 +2 325
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1470 BEAB=TH 272 302 574 204
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1660 &HT +3 245 +3 264 +6 509 +1 213
1670 ALET 2] 550 -2 581 - 1,131 454
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2370 ik -1 437 472 -1 909 266
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3020 FHI 143 +1 148 +1 289 +1 105
3030 EFH -2 289 —2 264 -4 553 -1 164
3040 EA 470 -1 453 -1 923 +1 308
3050 A H 533 4 538 +4 1,071 3. 364
3060 FhHH -2 320 293 -2 613 2 215
3070 KFfH -4 656 -6 687 210 1,343 -1 450
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3090 {—3FE 21 2,171 -6 2,144 -8 4,315 -1 1,532
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3110 F[LH -4[ 3,105 4| 3,104 6, 209 2, 093
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